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SECTION — A (1x10=10)

Q1. Multiple choice questions-
(1) What is the smallest prime number?

@ 3 (b) 1 (c) 2 (d) None of these
(2) LCM of 12,16 and 24 is

(@) 24 (b) 36 (c) 48 (d) 96

(3) A number having at its ones place is divisible by 10

(a) 2 (b)5 (©)0 (d) 4

(4) 1 is the smallest positive integer and IS the greatest negative integer.
(a) 2 (b)-1 (c)4 (d)-6

(5) What is the sum of -17 and +19?
@ 2 (b)-2 (c)-36 (d) 36

(6) Find the value of g of 12 kg
(@ 3 (b) 10 (c)4 d)9

(7) All improper fraction are greater than or equal to .
@ 6 (b) 1 (c)4 (d) None of these

(8) When the numerator of a fraction is greater than the denominator then the fraction is said to be
(a) Mixed fraction  (b) Numerator (c) improper fraction

(9) Measurement of complete angle is
(a) 270° (b) 360° (c) 225° (d) 180°

(10) Array has
(a) Four end points  (b) three end points  (c) one end point

SECTION — B (2x3=6)

Q 2. Find the difference —
(a) 82— 6=
9 12

Q 3. Find the HCF of following by division method
540 and 504

Q4. Find the sum of following integers
(@) 37and [-71]
(b) -27 and |—67|




Q5.

Q6.

Q7.

Q8.

SECTION — C (3x2=6)
Categorise the following angles into different types of angles such as acute, obtuse, zero angles,
reflex angle and complete angle

(a) 180° (b) 95° (c) 73° (d) 0° (€) 360° (f) 270°
Simplify

17 8 1
@ % 5t5

Aman, Anu and Vaibhav worked for 1% hours Zg hours and 2% hoursr respectively. How much
time did they work together.

A shopkeeper earned a profit at Rs 800 in the month of January and made a loss of Rs900 in the
month of February. What was the total profit at the end of February?
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Q1

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Tick the correct option- (1x3=3)
(1) Mandola belong to
(&) X hosa tribe (b) thinti (c) kraal (d) fables

(2) Who was outside his house when the wind changed?
(a) Abhay (b) Mrs Kumar (c) Kaashvi (d) firemen

(3) Who invented air conditioners?
(a) Louis Baille (b) Carl Bemg (c) Wright Brother  (d) Willis Carricer

Reference to context- (1x3=3)
Owing to his contributions to the science of medicine, Sushreeta is popularly known as the ‘father of
surgery’,

Answer the following question-

(@) Who is known as the ‘Father of surgery’?

(b) Who was Sushreeta?

(c) What he describes in his text Sushreeta Samhita?

Answer the following question- (do any four) (1x4=4)
(&) Why do you think Daisy helped Kalyani?
(b) Was it a wise decision of abhay to drive alone with a learner’s permit ? why.
(c) What did quixada do after he stopped hunting?
(d) What were some activities that the boy learnt which looking after the cattle in the field?
(e) Why was mrs. Kumar not capbale of saving herself?
Tick () the correct option:- (1x3=3)
1) She walks she covers four kilometers in an hour.
a) Quickly b) slowly c) rarely d) often
2) He was sorry he realized his mistakes.
a) After b)before c)behind d) with
3) The weather is very cold.
a) Declarative b) imperative c)interrogative d) exclamatory
Find the preposition from the following passage. (Y2 x4=2)
A boy and an old lady are walking across the street between two rows of building the old lady is
The old lady is walking with a brown stark. They are walking on zebra crossing.
Use the prompts given below to write sentences using the superlative degree. (1x2=2)
1) That is/ old cupboard/ in the house.
2) Cherrapunji is/ wet/ place in India.
Fill the circle with associated words- (%2 x6=3)




Q8.

Q.

you’ll be celebrating your parent’s silver jubilee. You plan to have theme party. Invite your friend to
be a part of the celebration. (1x5=5)
Or
Write a character sketch of your best friend.
You are lucky you have received a telephone call for your friend Mary from one of her client. Ankit,
that meeting fixed for 6™ august has been postponed to 10" august at 10:00 am at her office. She
added that she should also carry her laptop.
Or
Write a letter to your uncle thanking him for the birthday present he had sent for you (1x5=5)
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(1) All over the world the civilization flourished in the —
(a) River valleys (b) Hill ranges (c) desert regions (d) peninsular plateau

Q2.

Q3.

Q4.

Q5.

(2) The spinning of the earth on its own axis is called
(a) Revolution (b) equinox (c) rotation (d) solastice

(3) Under dictatorship the political power is vested in

(@) The people (c) a single individual

(b) A monarch (d) small group of people having much wealth and land
Assertion Reason based- (1x1=1)
Statements

Assertion (A)- In summer solastice, days are longer than nights
Reason(R) — Change of seasons is caused by the revolution of the earth.
(a) Both A and R are true and R is correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais correct but R is incorrect.

(d) A is wrong but R is correct

Read the statement and choose the correct option- (1x1=1)
Q) The Earth completes one rotation in 88 days.

(i) Days and nights occur due to the rotation of the earth.

(@) (i) (i) both are incorrect

(b) (i) is correct (ii) is incorrect

(c) (i) is incorrect (ii) is correct

(d) None of these

Match the correct statement - (1x1=1)
1- 21% June and 22" December (i) formed by chiefs of villages

2- Stalin (1) Horse sacrifice

3- Samite (iii) summer solastic

4- Ashvamedha (iv) Russia

(@) (iv), (i), (ii),())  (b) (),(iii),Civ), (i) (c) (iii),(iv),(i),(ii) (d) (i), (i), (i), (iv)
Case study based- (1x3=3)

The religion of the Rig vedic people was quite simple. The people worshipped the various forces of
nature. Thus, they had several gods and goddesses. Surya was the sun God, Indra was the God of
Thunder, rain and water. He was one of the most popular gods as he caused rain giving them
prosperity. Vayu was the God of wind. Prithvi was the Goddess of earth. Agni represented sacrificial
fire. The Aryans pleased their God by performing Yajnas and sacrifices. Their offering to the God
included ghee, milk and some juice, gradually the priests became powerful with time.

(a) Which veda is the oldest one?

(b) Name all four vedas.

(c) As per the vedic literature who is the God of wind, rain and sunlight?




Q6.

Q7.
Q8.

Qo.

Q 10.

Q11.

Q 12.

Q 13.

Picture based- (0.5x4=2)
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(a) Who were Brahmins?

(b) Who were the warriors and rulers, as per this system.
(c) What was the chief occupation of vaishyas?

(d) What does this pyramid mean?

Define citadel or summer colastic- (1x1=1)

Underline the incorrect words and rewrite the statement by using correct words- (1x2=2)
(a) The Prime meridian divides the earth into the Northern and the Southern hemispheres.
(b) In federal Government all authority and powers are vested in a single centre.

Give reasons- (1x2=2)
(a) Why local Government is less expensive?
(b) Why is standard time necessary for India?

Who am 1? (1x2=2)
(@) I am the capital of Magadh empire-
(b) I am called the sugar bowl of India

Give answer in (20-30) words- (2x2=4)
(a) Who keeps record of all activities of the panchayat?
(b) Give any two reasons why Magadha grew into a powerful kingdom in the period around.

Give answer in 50-60 words- (3x2=6)
(a) State the difference between the latitudes and longitudes.
(b) What new occupations developed in the nicotinic periods.

Map work - (Y2 x4=2)
(a) Indian Political map mark any two cities of Harappan civilization
(b) Mark any two states of standard meridian of India
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SECTION - A (1 MARK)

Q1. Multiple choice questions-
(1) Match the following and choose the correct option-

1- Transparent (1) Two liquids mixing with one another
2- Miscible (ii) Not able to see through it

3- Insoluble (i1i) Light may pass to the other side

4- Opaque (iv) Does not dissolve in water

(@) 1-iii,2-ii,3-i, 4-iv (D) L-ii,2-1,3-iv,4-iii  (C) 1-iii,2-i,3-iv,4-ii  (d) L-iii,2-i,3-ii 4-iv

(2) Statement A- Stamen is female part of flower

Statement B- Male gametes in plants is pallen

Statement C — Seed is formed before fertilization
(@) All are correct (c) statement A and C are incorrect
(b) Statement B is incorrect (d) All are incorrect

(3) Identify the pattern of veins in given leaf and tick the correct option
(a) Reticulate venation

(b) Symmetric venation
(c) Parallel venation é
(d) All of the above

(4) Which type of circuit is represented by given diagram?

(a) Open CIrCUIt Closed Circuit
(b) Closed circuit

(c) Complete circuit
(d) None of the above

Q2. Write the kind of change occur in the following? (¢H)]
(a) Germination of seed
(b) Melting of wax

Q 3. Define (any two) 2
(a) Saturated solution
(b) Ductility
(c) Twiners

Q4. Rewrite the following statement correctly with reason- (1)

Glycerine and water are immiscible in nature
Q5. What is the effect of heating on solubility? (1)

Q6.  Write any two properties of metal. (1)




Q7.

Q8.

Qo.

Q 10.

Q11

Q 12.

SECTION-B

Case based question-
Read the paragraph carefully and answer the given question-

After fertilization, petals and stamens dry up and fall ovule develops into seeds and ovary
into a fruits seeds germinate to give rise to new plant and helps in the reproduction of plants.

(a) Write all the female part of flower. (1)
(b) What do you understand by fertilization? (¢D)]
(c) Draw male reproductive part of flower and label it. (1)

Consider the given picture and answer the following questions-

(a) What is the name of a gap left between two rails? Explain it. 2
(b) What is the effect of heating and couling on gases (air) Q)
B. & ’

'H—a:n:::.

= >

=
(a) What is the source of electric energy in the given circuit? Q)
(b) Write down the essential elements with their symbols to make a complete circuit. D

OR
(c) Show the direction of flow of electric current in the circuit?

SECTION — C (3mark)
(a) Give reason :- The handles of the tools for handling electrical appliances covered with insulators?
(b) Describe the role of roughage in our food.

(a) What is goiter? How can we prevent its occurance?
(b) Differentiate between reversible and irreversible change with suitable examples.

(a) Describe some factors which affect solubility of a solute in water?
(b) Mention two main functions of a flower in plants.

(a) Describe arrangement of particles in solid liquids and gases with suitable diagram?
(b ) Draw the leaf venation. What relation you find between leaf venation and root system in a plant.
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1. €f¥ fa=83 IIY— vFEy |, Agiuq

2. g9 &1 9/M fafgu— qavet, gesHar

3. WIIfdarda® W9l 9 "igdrdd A9l 99— A8 , godl
4. 9gdd9d 99159— AT, T

5. 3 qAT A IUWIT 4 Uh—YP 2eq 913V |

92 W faseu gfig- (3)
1. “fEd” wree @) Saufea fea v 49 g% ©°
(@) &6 (@) d&pd (T1) BT (&) w=TdY
2. HAHHIHH+3 BT 9o FAT &
(®) o4 (@) &9 () B4 (&) @9
3. 'Gbol' Ied SEIBNY 2—
(b) ©e (=) atfre (m) A Tee (en) 3=
9—3 Ud Ied ¥ Ik dIfoau— (2)

1. ‘& 9§ forE” area ¥ &9 91 R 27?
2. ‘TS # I AT I 8?7

J—4 &9 @ IMaR 4R Sk forg— (6)
1. 3R YAy wfaar § &fa 4 gedt &1 I« F $a1 27
2. Yqd<SE B O UBS Nad BT G0 FI ATa¥AD B °
3. 'YW 9N 9aa A fAaq areft ol & fore w92 s9ar o dfew 98 W @) slar on

94 feAl" | S99 9199 &7 M W BT |

J—5 dP P AR U Ik fdIg— (4)
1. ad bl HEINfEr a7 Golla-l FIT 8T AT 82 Ul & AR U S} Iy |
2. W St 4 §UF &) ol dud 9 1 @1 2? Iaevl dfgd 9a1sv |

y—6 fr=ferRaa arqa § fagryor faeisy sifeg— (2)
1. TSl 3MHHE § Bl dcdd BT 2 |
2. 9qR §7d AN Y |

g—7 fHaq fead @er s @ $ar? (3)
1. "®Ibl, I3 U gaT HT < |
2. "BUR Y&l Yadaer Rifar o 21 9 Yad 2 ad a1 ?”
3. "'SIY GT YT AT FAT B 3R Sl H AU Tl ST 3Fd I=x91¢ |7

y—8 Wal fam diforg— (2)
1. dcHH ] aier
2. QI IR QIMAId
3. PN Ueq B
4. Af® v fede =)

g—9 F+ wrssl # YW dAT U< &1 YAIT BIfog— )
J&dIRI, ®H, b, Ud, -TAXITC

9—10 92 faweu g-i— (1)

1. 3P wss o1 Wl WY faw8e @
(@) <+® (@) fr+s® () +TP (@) R+




RAHUL MODEL SR. SEC. PUBLIC SCHOOL

Recognised Senior Secondary & Affiliated to CBSE
Railway Road, Sadh Nagar-11, Palam Colony, New Delhi
ASSIGNMENT SUBJECT — SANSKRIT CLASS- VI
NAME- Date- 2024
ROLL NO- M.M. 30

g—1  IEifeRadra aredn 9oi—fa=md 9 god— (2)
1. DY
2. €T9d:
3. HY®:
4. TEH:

y—2 Enfafaarr st fomagata foea— (2)
1. $UIa:
2. Prfére
3. BHCTA
4. A1R®D1

9—3 JAeNfaRadra ereai H¥ghd org ue ferera— ()
geHn, feremn, s, <tsHn, @rEn, do

9—4 71 9T G¥hd Agdre fod— (4)
M fagare wiar 2

. AT AR WRY 2

. @ 3 Ead 2

. eIy T AT 2

W N =

Y5 UG 9 WIg Uil Jd 6% 9 4 9o+ forad (aduE o) (4)

9—6 Sfud wdqM ug farea— (4)

: 9afa? sfa for@a— @)

g—8 JrefrRadara dd fwd—

fafefcasr wofi: gaterfa
df EANAVI
ACHI: Sl exifa
HIGHT: QIR HRITA
Y—9 IENEcard Aarfddl qRAd— 4)
Uhdad fgaa9 EECERE|

L)




g—10 JenfaRad i He&pd deraM™ feorerd
21, 24, 17, 30

Sfaa argwd: Reaawernt qrada—

qHY: UHdaId
gy gfesary
HegHq

N




